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LIFE SCIENCE

LSE-9 : ANIMAL DIVERSITY-I

Time : 3 hours	 Maximum Marks : 75

Note : Question no. 1 is compulsory. Attempt any six questions

from question no. 2 to 8.

1.	 (a) Choose the correct alternative from those	 3
given in parentheses :

The outer cytoplasm of radiolarians is
known as (calymma/lorica).

The enteron of anthozoans is
subdivided by (acontia/mesentries).

(iii)	 Locusts are most active in (solitary/
gregarious) phase.

	

(b) State whether the following statements are	 3
true (T) or false (F) :

In animals with radial cleavage,
blastopore forms the mouth and anus
is formed secondarily.

All arthropods have a closed type of
circulatory system.
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The respiratory tree of holothurians
helps in respiration as well as
excretion.
Majority of echinoderms are
carnivorous in nature.
Polian vesicles are the organs of
respiration in brittle stars.
The excretory organs of myriapods are
outgrowths of alimentary canal.

(c) Give the term used for each of the following :
The infective stage of Plasmodium.
The club-shaped sensory organs of
Aurelia.
The sexually mature region of
polychaetes.
The animals which are active during
the day and rest at night.

(d) Fill in the blanks :
The coat surrounding the nucleic acid
core of viruses is made of 	
The body cavity of echinoderms is
formed by 	  pattern of
coelom development.
The respiratory pigment haemocyanin
of Molluscs contains 	
metal.
Queen bee prevents sexual maturity
in workers by 	 produced
by its mandibular glands.
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(v) The 	 glands in immature
insects producing steroid hormone
undergo degeneration in adults.

(a) Briefly describe different modes of sexual 	 5
reproduction in protozoa.

(b) List one feature each pertaining to the germ	 5
layers and excretory organ of phylum
platyhelminthes classify this phylum upto
classes giving one example of each class.

(a) What is metamerism ? Explain the
	 4

phenomenon and its significance.
(b) Describe the water vascular system of

	
6

starfish with the help of a diagram.

With the help of a diagram of a general plan of a 10
typical siphonophore colony. Explain the
phenomenon of polymorphism in siphonophora.

Discuss various modes of feeding and digestion 10
in polychaetes. Support your answer with suitable
examples.

Give a brief account of locomotory structures of 10
annelids, stating how do these help in the
movement ?

(a) Enlist any five adoptive features of
	

5
helminthes to lead a parasitic mode of life.
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(b) Name any two pests of coconut palm. 	 5
Describe the damage caused by them.

8.	 Discuss the usefulness of non-chordates in 10

agriculture.
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